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XI (Management)    Time:  1:30 hrs.     F.M.:- 100   

English 

1) What is English Translation of “d 3/ hfG5'” .  

a) I will go home  b) I goes home  c) I am going home   d) I go to home  

2) What is exact English Translation of “d lj/u~hsn]hdf k9b}5' .” 

a) I am studying in Birgunj college  

b) I have been studying in Birgunj College  

c) I study in Birgunj college  

d) I will study in Birgunj college  

3) “I write ………. a pen”.  Correct preposition is. 

a) by    b) in    c) with    d) None of them  

4) Which of the following is complex word? 

a) Book    b) Books   c) Booked    d) Bookish  

5) Which of the following words contains all vowels (a,e,i,o,u )?  

a) Educated   b) Study   c) Literature    d) Education  

6) Reported speech is separated by….. 

a) Full Stop   b) Bracket   c) Sign of Interrogation  d) Comma  

7) The tag question of the sentence – Don’t  laugh at me.” Is  

a) Will you?   b) Shall we?   c) Isn’t he?    d) Aren’t they?  

8) He is ………..the way. ‘ The suitable preposition is ……. 

a) at    b) on    c) in     d) by  

9) “He helped me” has passive voice.  

a) I was helped   b) I am helped by him   c) I was helped by him  d) I was to be helped by him.  

10) The man …………called me was a thief.  

a) Which    b) Why   c) Whom   d) Who  

11) I am ……… European from Europe.  

a) an    b) a    c) the     c) none  

12) ‘He works hard’ has negative sentence  

Entrance Model Question 
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a) He don’t work hard     b) He does not work hard   

c) He does work hard not     d) He not work hard  

13) ‘He told him that he is a thief’ has direct narration  

a) He said, “ He is a thief”    c) He said to me, “ I am a thief”  

b) He says to me “I am a thief”.    d) He said, “I am a thief”.  

14) The similar meaning of the word ‘ancestor’ is  

a) Father    b) Old man   c) Forefather    d) Parents  

15) Which of the following words does not go with other three?  

a) Confuse   b) Puzzle   c) Baffle    d) Understand  

16) Driver needs to remain ……….who is incharge of car?  

a) Careful   b) Careless   c) Confused    d) Alert  

17) 1,2,3,4,5 are in …………order  

a) Descending   b) Ascending   c) Correct    d) Alphabet  

18) Which of the following verbs is state verb  

a) Jump    b) Work   c) Make   d) Love  

19) Which of the following words is a conjunction?  

a) I    b) Do    c) Today    d) Although  

20) The answer of ‘’how’ is concerned with  

a) Time    b) Place   c) Reason    d) Manner  

General Knowledge  

21) Which team is winner of cricket world cup 2019 ?  

a) India    b) Australlia   c)  New Zealand   d) England  

22) In which year did Nepal, for the first time, open all gates of Koshi barrage ?  

a) 2017    b) 2060  c) 2076   d)2075 

23) Which creature has the greatest longevity?  

a) Mouse     b) Tortoise    c) Toad  d) None 

24) Which device is used to measure Rain? 

a) Rain Scale   b) Rain Gauge   c) Rain Meter  d) Thermometer 

25) Who is the late king being called father of nation?  

a) Prithbhinarayan  b) Tribhuwan   c) Mahendra  d) None 

26) Who built Changunarayan Temple? 

a) BhimsenThapa  b) PratapMalla   c) Mandev  d) Yalambar 

27) Who is the first elected prime minister of Nepal?  

a) Girja Prasad Koirala  b) Sherbahadurdeuba  c) Bisheswar Prasad  d) None 

 

28) Which is the first bank of Nepal? 
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a. Nepal Rastra Bank  b. Nabil Bank  c. Nepal Bank Ltd.  d. Century Bank 

29) “dnfO{l;gf] vfg] s's'/ g;DemL, d af3sf] 8d? x'”,who said this?  

a) BhimshenThapa  b) Amar singhThapa  c) Surya BahadurThapa d) None 

30) How many districts are there in Nepal? 

a) 67    b) 77    c) 87   d) 75 

31) What is total area of Nepal?  

a) 147181sk.m    b) 141181sk.m   c) 140181sk.m  d) None 

32) Who is the first lady to climb Mount Everest? 

a) PasangLamu Sherpa  b. RekhaThapa  c. Priyanka Karki d. Junko Tabei 

33) Which district of Nepal, yet today, has been badly affected by Torendo “chakrpat”?   

a) Kaski    b)     c) Bara   d) None 

34) What is the real height of Mt Everest?  

a) 8840s.m   b) 8848s.m   c) 8008 s,m  d) None 

35)  Where does the sun rise in Nepal at first? 

a) Nagarkot   b) Humla   c) Jomsom  d) None 

36) Who is the captain of Nepali Cricket Team? 

a) Arif Sheikh   b. Paras Khadka  c. Binod Das  d. Shakti Gauchan 

37) Where is Gateway of Nepal?  

a) Bhairahwa   b) Birgunj   c) Janakpur  d) None 

38)  Who is the father of science?  

a) Pascal     b) Einstein    c) Newton   d) skinner  

39)  How many bones are there in human body 

a) 206    b) 205    c) 202   d) None 

40)  Which is the most burning historical place in Nepal?  

a) Simrangarh   b) Makwanpur   c) Gorkha  d) None 

Social Studies  

41) Which is the first university of Nepal?  

a) Tribhuwan university   b) Sanskrit university   c) Purbanchal university  d) None 

42) Which is the first college in Nepal?  

a) Thakur Ram Multiple Campus b) Trichandra College  c) Tahachal College    d) None 

43) Who is the last shah king of Nepal?  

a) Birendra Shah   b) Dipendra shah   c) Gyanendra Shah  d) None 

44) Who is the most powerful man according present constitution of Nepal? 

a) President    b) Prime minister   c) Home Minister  d) None 

45) Who was the man to name Birgunj for the first time?  

a) Thirbam Mala   b) BirShamsher  c) TejBahadurAmatya d) None 

46)  When did Nepal establish satellite in space?    
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a) 2003    b) 2075  c) 2076 d) 2011 

47)  What is the name of new alliance Communist Parties  

a) RA.J.PA   b) RA.S.PA   c) Ne.Ka.Pa.  d) None 

48)  How many Local State Governments are there in Parsa District?  

a) 14    b) 13    c) 12   d) 11 

49)  How many Districts are there in Province No. 2? 

a) 7    b) 8    c) 9   d) 10 

50)  Where was Osama Bin Laden killed by America ?  

a) Bhuttan    b) Pakistan     c) India    d) Russia  

Mathematics  

51) A machine bought for Rs. 1,00,000 undergoes depreciation at the rate of 10% per annum. Its price after 3 

year will be.  

a) Rs. 72,000   b) Rs. 70,000   c) Rs.72,900   d) Rs. 71,900 

52) A radio having marked price Rs. 400 is to be sold on a discount of 25%. What will be the selling price of 

10% vat is imposed on it?    

a) Rs. 340    b) Rs. 310    c) Rs. 330   d) Rs. 320 

53) For two sets A and B is ACB, then A B= ……..?  

a) A    b) B    c)    d) U   

54) For a prism if area of base –A, height - h then its volume ….. ?   

a) hA.
2

1
    b) A.h     c) hA.

3

1
   d) 

h

A
 

55) Convert 
4

1
 into percent.  

a) 25%   b) 40%    c) 20%   d) 24% 

56) What percent of 500 will be 50?  

a) 40%   b) 30%    c) 20%   d) 10%  

57) Which is true?  

a) CI=P 
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  b) CI = P 
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   c) Both a & b   d) None  

58) Which is true?  

a) I=
100

RTP 
   b) T=

RP

I



100
   c) P=

RT

I



100
  d) all of these.  

59) Which one is correct formula to find out profit percent?  

a) P%= %100
CP

P
   b) P%= %100x

CP

CPSP −
 c) Both a and b d) None  

 

60) Which is true?  
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a) 
%100

100

PSP

CP

+
=   b) 

%100

100

LSP

CP

−
=   c) SP=

100

%)100( CPP +
 d) All of these.  

61) What is the formula to find the area of triangle?  

a) 
2

1
base height   b) 

2

1
a.b.sinc.   c) ))()(( csbsass −−−  d) All of the above  

62) If X =25, N=5 and  = afx  find the value of a.  

a) 100   b) 125    c) 300    d) None   

63) Two events A and B are mutually exclusive with P (A) = 
5

3
 and P (B) =

5

2
, then find P(A B).  

a) 
5

4
    b) 

5

2
    c) 1   d) 0 

64) The area of an equilateral triangle is 729 3  cm2, find the length of side.  

a) 54 cm     b) 60cm    c) 729 3 cm   d) 100cm  

65) A,B and C started a business with Rs. 20,000 , Rs. 30,000 and Rs. 50,000. At the end of the year they had a 

profit of Rs. 10,000. Find the share of B from profit.  

a) Rs. 5,500   b) Rs. 2000    c) Rs. 5,000  d) Rs. 3,000 

66) The sum of squares of two consecutive number is 85. There numbers are :   

a) 11 and 12     b) 6 and 7    c) 42 and 43   d) 13 and 14 

67) What is the sum of first 100 natural numbers?  

a) 5000    b) 5050   c) 2550   d) 2500 

68) Find the value of 
43

21
 

a) 10    b) -10    c) 20   d) -2 

69) A matrix having equal no. of rows and columns is known as …….  

a) Row matrix    b) Column matrix   c) Square matrix  d) Rectangular matrix   

70) A letter is chosen at random from the word “NURSING”. What is the probability of not getting ‘N’.  

a) 
7

2
    b) 

7

1
    c)

7

6
   d)

7

5
 

Nepali 

&!_ ‘PS;/]’ s'g zAb xf] <  
s_ tT;d zAb   v_ tb\ej zAb   u_ cfuGt's zAb  3_ cGo 

&@_“kl95f}” sf] cs/0f ls|ofkb 5fg . 
s_ k9]G5f}    v_ kl9g5f}    u_ k9]5}gf}   3_ s'g} klg xf]Og 

&#_ “;'ud” zAbsf] ljk/LtfyL{ zAb 5fg M  
s_ glhs   v_ b'n{e    u_ b'u{d   3_ b'?:t  

&$_ ‘d'gfdbg’ v08 sfAosf n]vs sf] x'g\ <  
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s_ efg'eSt cfrfo{   v_ l;l4r/0f >]i7   u_ nIdL k|;fb b]jsf]6f 3_ df]lt/fd e§ 
&%_ kl/>d ug]{n] dL7f] kmn kfpF5 . s:tf] jfSo xf] .  

s_ ;/n jfSo   v_ ;+o'St jfSo  u_ ld> jfSo  3_ k|]/0ffy{s jfSo 
&^_ pk;u{ nflu ag]sf] zAb 5fg M  

s_ b'u{Gw   v_ ;dflhs   u_ g]kfnL  3_ 3/}3/  
&&_ d k/LIff lbFb}5' . s'g kIfsf] jfSo xf] <  

s_ k"0f{ kIf    v_ ck"0f{ kIf    u_ ;dfGo kIf  3_ c1ft kIf 
&*_ u'?k|;fb d}gfnL s:tf syfsf/ x'g\ < 

s_ cfb{zf]Gd'v ;fdflhs oyf{yjfbL    v_ k|s[ltjfbL   
u_ O{Zj/jfbL       3_ dflysf s'g} klg xf]Og .  

&(_ ljZj]Zj/ k|;fb sf]O/fnf s'g wf/fsf k|jt{s x'g\ <  
s_ elStwf/f    v_ k|of]ujfbL wf/f   u_ dgf]j}1flgs wf/f  3_ ;a}  

*)_ tnsf dWo] z'4 zAb 5fg M 
s_ a'4LhLjL    v_ a'l4lhjL    u_ a'l4hLjL   3_ j'l4hLjL  

*!_ xfdLx? 3'Dg hfcf}F . s:tf] jfSo xf] < 
s_ OR5fy{s    v_ jt{dfg sfn  u_ cf1fy{s   3_ e"tsfn 

*@_ d dg nufP/ k9\y] . s'g kIfsf] jfSo xf] <  
s_ c1ft kIf   v_ cEo:t kIf   u_ ;fdfGo kIf  3_ k"0f{ kIf  

*#_ ‘d[ugogL’ s:tf] zAb xf] <  
s_ ;df;     v_ lau|x     u_ ;lGw laR5]b   3_ ;lGw   

*$_ “hoef]nL” s:tf] lgaGw xf] < 
s_ ;dflhsk|wfg  v_ xf:oJoªUok|wfg  u_ k|s[ltk|wfg  3_ O{Zj/jfbL 

*%_ ‘k|]dlk08’ gf6ssf n]vs sf] x'g <  
s_ nIdL k|;fb b]jsf]6f      v_ afns[i0f ;d  
u_ w/0fLw/ sf]O/fnf       3_ ljZj]Zj/ k|;fb sf]O/fnf  

*^_ “k|Zgf]Q/”sljtfdf ;dfhsf] s'gkIfnfO{ ;an agfpg] k|of; u/] < 
s_ cfly{s    v_ wfld{s    u_ g}lts  3_ ;fF:s[lts 

*&_ kfZrfTo gf6\o k/Dk/fdf gf6ssf] cGTosf cfwf/df gf6snfO{ s'g b'O{ k|sf/ dflgPsf] 5 <   
s_ ljof]ufGt / ;+of]ufGt  v_ ;'vfGt / b'MvfGt   u_ l8d / Jofof]u  3_ >Jo / b[Zo   

**_ “k|of;”zAbsf] kof{ojfrLzAb 5fg\ .  
s_ k|:tfj   v_ hdsf]{    u_ sf]l;;   3_ cfjZos 

*(_ ‘kflkgL cfdf’’ v08sfJosf n]vs sf] x'g <   
s_ dfwj l3ld/]   v_ afns[i0f ;d   u_ nIdL k|;fb b]jsf]6f 3_ l;l4r/0f >]i7 

()_ ‘l6l/¨ l6l/¨’ s'g zAb xf] <  
s_ ljz]if0f    v_ gfd     u_ cg's/0ffTds  3_ ;j{gfd 

Accountancy (For Management Faculty) 
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91) Who is the father of accountancy?  

a) Adam smith    b) David carter  c) Luca de pacioli  d) chanakya 

92) Rent is ………….?  

a) Expenses    b) Liabilities   c) Income    d) Assets  

93) Building is ………….?  

a) Expenses    b) Liabilities   c) Income    d) Assets  

94) Trial balance shows.  

a) Arithmetic accuracy   b) Profit and loss  c) Financial position   d) None of above  

95) A.G.F. number of journal voucher?  

a) 8    b) 7   c) 10    d) 5 

Current Affair 

96) When was BCPL (Birgunj College Pvt. Ltd.) established?  

a)2070 B.S.     b) 2071 B.S.  c) 2069 B.S.    d) 2072 B.S.  

97) Who is the founder of Gate way of Nepal (Birgunj)? 

a) Thirbam Mall   b) Shankracharya c) BimalShriwastav  d) Tej B. Amatya 

98) Who is currently in Hunger Strike against Government ? 

a) Dr. Govinda K. C.  b) SushilaKoirala c) Pushpa Kamal Dahal d) None 

99) Which city of Nepal is Called Mini City of Kasmir? 

 a) Birgunj   b) Kathmandu  c) Biratnagar   d) Pokhara 

100)  Who is Mayor of Birgunj Metropolitan city? 

a. Rahabar Ansari  b. BimalShriwastav c. BijaySarawogi  d. Basruddin Ansari 

 

  

***Best of Luck*** 


